A company makes compressors and wants to maximize their Revenue.

Factor completely. ékz — Q The following equation models the company's revenue (thousands of $)
0 as a function on the number of employees it has.
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2. How many employees will produce this maximum revenue?
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Find the equation for the LOS, coordinates of the Vertex, and y-intercept Find the equation for the LOS, coordinates of the Vertex, and y-intercept
for each quadratic.

for each quadratic.
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Write the equation of each quadratic in Vertex Form.
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